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ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ! 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ (Ѐ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ-

ЀЀЀ — ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ).  

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 5-7 ЀЀ. — 2,5 ЀЀЀЀ, ЀЀЀ 8 

ЀЀ. — 3 ЀЀЀЀ, ЀЀЀ 9 ЀЀ. — 3,5 ЀЀЀЀ, ЀЀЀ 10-11 ЀЀ. — 3 ЀЀЀЀ 55 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ.  

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀ — Ѐ ЀЀЀ ЀЀ ЀЀЀЀ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ: 

610005, Ѐ. ЀЀЀЀЀ, 5, Ѐ/Ѐ 1026, ЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀ, 

Ѐ. Ѐ. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 7 

ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ 0 Ѐ ЀЀ ЀЀЀЀЀЀЀ 7, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ). Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀЀ 4, ЀЀ ЀЀЀЀЀЀ – ЀЀ ЀЀЀЀ 3.  

3. ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ •. Ѐ ЀЀЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ: 

ЀЀЀЀЀЀ Ѐ Ѐ  Ѐ Ѐ Ѐ  Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ  

7 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
6 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

5 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
4 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
3 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

1-2 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

0 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀ: 

� ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ; 

� ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ; 

� ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

� ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ), ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. 

4. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀ (ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ). ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ Ѐ.Ѐ. 

5. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ 

ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ.  

6. ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ. ЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

7. ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. Ѐ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 9 Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (+, –, ×, :) Ѐ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ 2016? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ: 999+999+9+9. ЀЀЀ ЀЀЀ: 999×((9+9):9)+9+9. 

♦ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 7 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 6 ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, 

ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 10 ЀЀЀЀЀ? ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ 7 ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ — 2 ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ — ЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 6 ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀ 6 ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀ. ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ 7 ЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀЀ ЀЀ-ЀЀЀЀЀЀЀЀ ЀЀ 6 ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

7 ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ ЀЀ 8 ЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ — 6 ЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀЀ — 7–6 = 1 ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 4 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 3 ЀЀЀЀЀЀ (Ѐ 3 ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ). 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀ-

ЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ: «ЀЀЀЀ», ЀЀ ЀЀЀЀЀЀ: «ЀЀЀЀ», Ѐ ЀЀЀЀЀЀ: «ЀЀЀЀ», Ѐ ЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀ: «ЀЀЀЀ». ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ — ЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 4 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 3 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀ 9 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 2, 3, 7 Ѐ 8, ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ? ЀЀЀЀ ЀЀЀЀЀ — ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ 2, 3, 7 Ѐ 8 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ 1, 4, 6 ЀЀЀ 9. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2, 3, 7 Ѐ 8, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 2, 

3, 7 ЀЀЀ 8. 
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♦ ЀЀЀЀЀ «ЀЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀ? ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ. 

ЀЀЀЀЀ. 10 ЀЀ. ЀЀ. ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ  ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 1×3. 

ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 4+2⋅3 = 10 ЀЀ. ЀЀ. 

♦ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 6 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ — ЀЀЀЀЀЀ, ЀЀЀЀЀ — ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ — ЀЀЀ 100 ЀЀЀЀ Ѐ 200 ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ? 

ЀЀЀЀЀ. 1800. ЀЀЀЀЀЀЀ. 100 ЀЀЀЀ Ѐ 200 ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 1–1/2–1/3 = 1/6 ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ (100+200)⋅6 = 1800 ЀЀЀЀЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀ-

ЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ: «ЀЀЀЀ», ЀЀ ЀЀЀЀЀЀ: «ЀЀЀЀ», Ѐ ЀЀЀЀЀЀ: «ЀЀЀЀ», Ѐ ЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀ: «ЀЀЀЀ». ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 5 ЀЀЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 4 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 3 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. (ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ!) 

ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — 2 ЀЀЀЀЀ. «ЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ+ЀЀЀ = ЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀ+ЀЀЀ — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, 

Ѐ ЀЀЀЀЀЀ, ЀЀЀ Ѐ. ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀ Ѐ+Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ Ѐ, ЀЀ Ѐ+Ѐ = 10+Ѐ (1). ЀЀ ЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ 2Ѐ+1 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ Ѐ. ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ Ѐ = 9 (2). ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ 

ЀЀЀЀ Ѐ = 2Ѐ+1 (3). ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ (1), ЀЀЀЀЀЀЀЀ 4Ѐ+2 = 10+Ѐ, ЀЀЀЀЀЀ 3Ѐ = 8, 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (1), (2) Ѐ (3) — ЀЀ 1 ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 100 ЀЀЀЀЀ 51 ЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ) ЀЀ ЀЀЀЀЀ 148 ЀЀЀ? Ѐ) 

ЀЀ ЀЀЀЀЀ 146 ЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50 ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 49 ЀЀ ЀЀЀ. ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀ 97 ЀЀ ЀЀЀЀЀЀЀЀЀЀ 

98 ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ 99 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ 50, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ 51, ЀЀ ЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 49+97 = 146 ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 49 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 49 

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 49 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 97 ЀЀ 98 

ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ 146 ЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀЀЀ Ѐ) ЀЀЀ ЀЀЀЀЀЀ Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 7 Ѐ 11 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 6 ЀЀЀ 8–10 ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 7 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 20 ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ — 15 ЀЀЀЀЀ. Ѐ ЀЀЀЀ 

ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 20 

ЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ ЀЀ Ѐ ЀЀЀЀ-

ЀЀЀ 10 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 2, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

— ЀЀ 3, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. 2/3. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ a, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ b. ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ 2a+b/3 = a+b, ЀЀЀЀЀЀ a = 2b/3, ЀЀ ЀЀЀЀ a/b = 2/3. 

♦ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 2 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ 
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ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ: «ЀЀЀЀ», ЀЀ ЀЀЀЀЀЀ: «ЀЀЀЀ», Ѐ ЀЀЀ-

ЀЀЀ: «ЀЀЀЀ», Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ: «ЀЀЀЀ». ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ. 

♦ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) ЀЀ 2 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 3 ЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1 Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

♦ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 100 ЀЀЀЀЀ 34 ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 99 

ЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀ 99 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 33 ЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ. ЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ 99 ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 6 Ѐ 11 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 6 ЀЀЀ 8–10 ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 8 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 2, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ  ЀЀ 9. 

ЀЀЀЀЀ. 2/9 (Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ). ЀЀЀЀЀЀЀ. ЀЀЀЀЀ a/b — ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ 

ЀЀЀЀЀЀЀ (a+2)/(b+9) = a/b. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ b(b+9) Ѐ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 2b = 9a, ЀЀЀЀЀЀ a/b = 2/9. 

♦ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀ 

ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀЀЀ-
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ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀ — ЀЀЀ 

ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ — 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ a Ѐ b ЀЀЀЀЀЀ, ЀЀЀ a > b, a
2
 < b Ѐ b

2
 < a. ЀЀЀЀ-

ЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ a Ѐ b ЀЀЀЀЀЀ 1. 

ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ a > b, ЀЀ a
2
 < b < a, ЀЀЀЀЀЀ a

2
 < a ⇔ a(a–1) < 0 ⇒ a < 1. ЀЀ ЀЀ-

ЀЀЀ Ѐ b < a < 1. 

♦ ЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. Ѐ ЀЀЀЀЀЀЀЀ ABCD (AD || BC) AD = 2, BC = 1, ∠ABD = 90°. ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ CD. 

ЀЀЀЀЀ. CD = 1. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ E — ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ AD. ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ABD ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ, BE = AE = DE = 1. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, BC = DE Ѐ 

BC || DE, ЀЀЀ ЀЀЀ BCDE — ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ, CD = BE = 1. 

♦ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ 1392, Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ  ЀЀ 2216? 

ЀЀЀЀЀ. ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ m Ѐ n ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ mn ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 2216, ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

10000k+2216 = 8⋅(1250k+277) Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 8, ЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ 16. ЀЀЀЀЀЀ, ЀЀЀЀ 

ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ m Ѐ n ЀЀЀЀЀЀЀ ЀЀ 4. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 4, 

ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 4 ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 1392. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ 

mn ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 16. ЀЀЀЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀ «ЀЀ ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 10 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 100 ЀЀЀЀЀ 50 ЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 147 ЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50 ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀ 97 ЀЀ ЀЀЀЀЀЀЀЀЀЀ 

98 ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ 99 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ 49, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ 50, ЀЀ ЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50+97 = 147 ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 50 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ 4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀ. ЀЀЀЀЀ-ЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ 

C 

A E D 

B 
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ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 48 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: ЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀ — ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ. Ѐ 

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50+4+48 = 102 ЀЀЀЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 6, 7 Ѐ 11 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 6 ЀЀЀ 9 Ѐ 10 ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 9 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 7, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

— ЀЀ 3, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. 9. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ a, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ b. ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ 7a+b/3 = a+b, ЀЀЀЀЀЀ 6a = 2b/3, ЀЀ ЀЀЀЀ b/a = 9. 

♦ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 2 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 4 ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ (1/9) — ЀЀЀЀЀ 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 

ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ: «ЀЀЀЀ», ЀЀ ЀЀЀЀЀЀ: «ЀЀЀЀ», Ѐ 

ЀЀЀЀЀЀ: «ЀЀЀЀ», Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ: «ЀЀЀЀ». ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? ЀЀЀЀЀ-

ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 7 ЀЀЀЀЀЀ. 

♦ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) ЀЀ 2 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 3 ЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ 200 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 1 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

200? 

ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ k ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 200–k ЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  

k–(200–k) = 2k–200 ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 200 = 2
3
⋅5
2
 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. Ѐ ЀЀЀЀЀЀЀЀ ABCD AD = 6, BC = 4, AB = CD = 2. ЀЀЀЀЀ M Ѐ N ЀЀ ЀЀЀЀ-

ЀЀЀЀЀ AD ЀЀЀЀЀЀ, ЀЀЀ ∠BNC = ∠BMC = 90°. ЀЀЀЀЀЀЀ MN. 

ЀЀЀЀЀ. MN = 2. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ E — ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ BC, Ѐ ЀЀЀЀЀ F Ѐ G (F ЀЀЀЀЀ A Ѐ G) ЀЀЀЀЀ 

AD ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ AF Ѐ BE 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ, AFEB — ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀ EF = AB = 2. ЀЀЀЀЀЀЀЀЀЀ, EG = CD = 2. ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀ F Ѐ G ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ-

ЀЀЀ BC, ЀЀЀЀЀЀ ∠CFB = ∠BGC = 90°. ЀЀЀЀЀЀЀЀ ЀЀЀЀ- G F 

E C B 

D A 



 10 

ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ M Ѐ N ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ BC, Ѐ ЀЀЀ ЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ AD ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀ F Ѐ G. ЀЀЀЀЀЀ MN = FG = 2. 

♦ ЀЀЀЀЀЀЀЀ, ЀЀЀ ∠CFB = ∠BGC = 90°, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ M Ѐ N 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ F Ѐ G — 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 

123456789
2
⋅9876543211

2
+(123456789

2
+9876543211

2
)10
20

 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀ x=123456789, y=9876543211. ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ x
2
y
2
+(x
2
+y
2
)(x+y)

2
=(xy+x

2
+y
2
)
2
. 

ЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 100 ЀЀЀЀЀ 51 ЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 145 ЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50 ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ. 

1) ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 49 ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀ 98 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 50+49 = 99 ЀЀЀЀЀЀЀЀЀ. 

2) ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ 4 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 95 ЀЀЀЀЀ ЀЀ 48 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ 99 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ-

ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 50, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ 

51, ЀЀ ЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50+95 = 145 ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 145 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 6, 7 Ѐ 11 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 6 ЀЀЀ 8 Ѐ 10 ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 10 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 8 ЀЀЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ — 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ a ЀЀЀЀЀЀЀЀЀ |x
2
−x| = a ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀ a = 1/4. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ y = |x
2
−x| ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ y = x

2
−x 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ |x
2
−x| = a ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ y = a ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ y = x
2
−x. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ (1/2, –1/4), ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ (1/2, 1/4), Ѐ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ |x
2
−x| = a ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀ a = 1/4. 

♦ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ 10, Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ — ЀЀ 20? 

ЀЀЀЀЀ. ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 5, ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 5. ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 

10, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 5, Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 5, ЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 0. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ 

20, Ѐ ЀЀ 00. ЀЀЀЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 0 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ABCD ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 

A Ѐ B ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀ C Ѐ D ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ O. ЀЀЀЀЀЀЀЀ, ЀЀЀ 

OA = OB. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ DA Ѐ CB ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ E. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ A Ѐ B ЀЀЀЀЀ, ЀЀЀЀЀ E Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ AB, Ѐ O — 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ CDE. ЀЀЀ ЀЀЀЀ 

ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ AB ЀЀЀЀЀЀЀЀЀЀЀЀ AEB ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ EO ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ AB, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 4 ЀЀЀ 11 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

Ѐ 8 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 16, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ 16:5 > 3, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ a, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀ-

ЀЀЀ ЀЀ b Ѐ c, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ-

ЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ d, ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ b Ѐ c, — ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀ α — ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ a, b Ѐ Ѐ. ЀЀЀЀЀЀ d ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

4⋅3/2 = 6 ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ e ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ α, ЀЀЀ ЀЀЀЀЀ Ѐ 

ЀЀЀ — Ѐ, ЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀЀЀ e ЀЀЀЀ 

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ α.  

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ: ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀ n ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ Ѐ (n–1)(n–2)/2+2 ЀЀЀЀЀЀ, ЀЀ ЀЀЀ ЀЀЀ 

ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ: n = 3. ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 2⋅1/2+2 = 3 ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ n = k ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ n = k+1 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ Ѐ k(k–1)/2+2 ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

O 

A 

D 

E 

C 

B 
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ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ — ЀЀ). ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ k ЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ k ЀЀ, Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ k(k+1)/2, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀ k(k+1)/2–k = k(k–1)/2 ЀЀ, ЀЀЀ ЀЀЀ k ≥ 3 ЀЀ ЀЀЀЀЀЀ, ЀЀЀ (k–1)(k–2)/2+2. ЀЀЀЀ ЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ k–1 ЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

k(k–1)/2+2–(k–1) = (k–1)(k–2)/2+2 ЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ α. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ k(k–1)/2+1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ-

ЀЀЀ α. 

♦ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ 4 ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ, — 1 ЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ — 3 ЀЀЀЀЀ. 

• ЀЀЀЀЀЀ (n–1)(n–2)/2+2 Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ 8 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ) 

— ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ (n–1)(n–2)/2+1 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: n–1 ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 6 ЀЀЀ 11 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 100 ЀЀЀЀЀ 49 ЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 149 ЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50 ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀ 97 ЀЀ ЀЀЀЀЀЀЀЀЀЀ 

98 ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ 99 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ 48, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ 49, ЀЀ ЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50+97 = 147 ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 50 ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ Ѐ 49 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, Ѐ Ѐ ЀЀ-

ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ 4 ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ-ЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 95 ЀЀЀЀЀ ЀЀ 

48 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50+4+95 = 149 ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀ 4 ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 48 ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀ-

ЀЀЀ ЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀ 4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 4 ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 46 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀ — ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50+4+4+4+46 = 108 ЀЀЀЀЀЀЀЀЀ. 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 6, 7 Ѐ 11 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 6 ЀЀЀ 8 Ѐ 9 ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 11 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ, 12/8+6/9 = 13/6. 
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♦ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ x
2
+px+q = 0 — ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ pq — ЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ q, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ p, 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ cos2016x = sin
2
x+1. 

ЀЀЀЀЀ. x = πk, k ∈ Z. ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ cos2016x ≤ 1, sin
2
x = 0, ЀЀЀЀЀЀ x = πk, 

k ∈ Z. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ cos2016πk ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ k ЀЀЀЀЀ 1, ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀЀЀЀ ЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ) — 1 ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

x = πk, k ∈ Z, ЀЀЀ ЀЀЀЀЀЀЀЀ — 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ABCDE ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, 

∠ B = ∠ C Ѐ ∠ D = ∠ E. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ BC Ѐ ED Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ A ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 

ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ AB Ѐ CD ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ M, Ѐ ЀЀЀЀЀЀЀ AE Ѐ CD — ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ N. ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ BMC Ѐ DNE — ЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ BC Ѐ DE ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀ M Ѐ N ЀЀЀЀЀЀЀЀЀЀЀЀ AMN ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ BC Ѐ ED ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ A ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ AMN (ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ AMN). 

• ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 4 ЀЀЀ 10 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 100 ЀЀЀЀЀ 75 ЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 97 ЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50 ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀ ЀЀЀЀЀ 25 ЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 

24⋅2+26 = 74). ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

1) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 25 ЀЀЀ. ЀЀЀЀЀ 50 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ 

ЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 25 ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

25 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀ — ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50+25 = 75 ЀЀЀЀЀЀ-

ЀЀЀ. 

2) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 26 ЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀ 99 ЀЀ 

100 ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 75 ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ 24-Ѐ, ЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 50+47 = 97 ЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀ 6. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 6 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

Ѐ 12 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 24, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ a, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ 24:6 = 4 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ a Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ (ЀЀЀЀЀ-

ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 8 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ 12 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ b Ѐ c, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ a Ѐ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀ α — ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ a, b Ѐ Ѐ. ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ k ≥ 3 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ α, Ѐ 6–k ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ-

ЀЀЀ Ѐ α, ЀЀЀЀЀ Ѐ α ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ k(k–1)/2+(6–k)(5–k)/2+(6–k) = k
2
–7k+21 = (k–3,5)

2
+8,75. ЀЀЀ 3 ≤ k ≤ 5 ЀЀЀЀЀ  

(k–3,5)
2
+8,75 < (5–3,5)

2
+8,75 = 11, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ k = 6, 

ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ α, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 10 ЀЀЀЀЀЀ. 

♦ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ 4 ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ, — 1 ЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ — 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 5-2.  

Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀ: 9-3.  

ЀЀЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀ»: 9-5.  

Ѐ. Ѐ. ЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀ: 11-5.  

ЀЀЀЀЀЀЀЀ: 5-1, 5-5, 6-1, 7-1, 7-2, 7-4, 9-1, 11-2.  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 2015/16 Ѐ.,  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 8 

ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ, ЀЀЀЀЀ 21, 11 ЀЀ.), ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 11 ЀЀ.). 

ЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀ, ЀЀЀЀЀ 21, 8 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 11 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ-ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ 1, 11 ЀЀ.). 

ЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ 

— ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀ ЀЀЀЀЀЀ (Ѐ. ЀЀЀЀЀ, ЀЀЀЀЀЀ Ă28, 9 
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ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 11 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

(ЀЀЀ Ѐ ЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀЀЀЀ, 11 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

(ЀЀЀ — ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ-ЀЀЀЀЀЀ, ЀЀЀЀЀ), ЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 7 

ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 8 ЀЀ.), 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 

10 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ Ѐ. ЀЀЀЀЀЀ, 10 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ 2: ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ 2015 – ЀЀЀЀЀЀЀ 2016) 

31 ЀЀЀЀЀЀЀ – 9 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀ 
XIX ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 62 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 50 ЀЀЀЀ-
ЀЀЀ 32 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ 10-11» ЀЀЀЀЀЀ 7 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-9» ЀЀЀЀЀЀЀЀ 7-8 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

28 ЀЀЀЀЀЀ – 4 ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ XLVI ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 82 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 24 ЀЀЀЀЀЀ ЀЀ 21 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ 
«ЀЀЀЀЀ-8» ЀЀЀЀЀЀ 7 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7» — 3 ЀЀЀЀЀ Ѐ ЀЀЀ-
ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-6» — 4 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ», ЀЀЀЀЀ-
ЀЀ «ЀЀЀЀЀЀЀЀ+ЀЀЀЀЀ» 6 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ». 

29 – 31 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5-1», «ЀЀ-
ЀЀЀ-5-2», «ЀЀЀЀЀ-6-2» ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-5-3» Ѐ «ЀЀЀЀЀ-5-5» — ЀЀЀЀЀЀЀ II 
ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-4-1», «ЀЀЀЀЀ-4-2» (ЀЀЀЀЀЀ Ѐ ЀЀЀЀ 5 ЀЀЀЀЀЀЀ), «ЀЀЀЀЀ-5-4», «ЀЀЀЀЀ-6-1», «ЀЀ-
ЀЀЀ-6-3», «ЀЀЀЀЀ-6-4» — ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. 

19–25 ЀЀЀЀЀЀЀ: XLVII ЀЀЀЀЀЀЀЀЀ (ЀXIV ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ-
ЀЀЀЀЀЀ 86 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 28 ЀЀЀЀЀЀЀ ЀЀ 22 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-8» ЀЀЀЀ-
ЀЀ 1 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7-1» — 1 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7-2» ЀЀЀЀЀЀЀЀ 3-4 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 
«ЀЀЀЀЀ-6» ЀЀЀЀЀЀ 8 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ», ЀЀЀЀЀЀЀ «ЀЀЀЀЀ 5-6» ЀЀЀЀЀЀЀЀ 3-4 
ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ», ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5» — 7 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 
«ЀЀЀЀЀ». 

7 (ЀЀЀ 6-8 ЀЀ.) Ѐ 28 (ЀЀЀ 9-11 ЀЀ.) ЀЀЀЀЀЀЀ: ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 7 ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀ, ЀЀЀЀЀЀЀ 9-11 ЀЀЀЀЀЀЀ 28 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ. 27 ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.) — ЀЀЀЀЀ-
ЀЀЀ I ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 6 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.) — ЀЀЀЀЀЀЀЀЀ 
II ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 6 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), 
ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 10 ЀЀ.) — ЀЀЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 6 ЀЀ.), 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 5 ЀЀ. – ЀЀ 6 ЀЀ.) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ – ЀЀЀЀ, 7 
ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ – ЀЀЀЀ, 9 
ЀЀ.), ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 10 ЀЀ.) — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ – ЀЀЀЀ, 6 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
(ЀЀЀ – ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ-ЀЀЀЀЀЀ, ЀЀЀЀЀ, 7 ЀЀ.)— ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀ II ЀЀЀЀЀЀЀ. 

17 ЀЀЀЀЀ: 30398 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀ "ЀЀЀЀЀЀЀ-2016". 

22-25 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ VIII ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ» Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ 239 ЀЀЀЀЀЀЀЀ 6-8 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ 67 ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 
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ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀЀ» Ѐ ЀЀЀЀ. 

15 – 17 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-4-2», «ЀЀ-
ЀЀЀ-5-2», «ЀЀЀЀЀ-5-3» ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-4-1», «ЀЀЀЀЀ-5-1», «ЀЀЀЀЀ-5-4», 
«ЀЀЀЀЀ-6-2» — ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-5-5», «ЀЀЀЀЀ-6-1», «ЀЀЀЀЀ-6-3» — ЀЀЀЀЀЀЀ 
III ЀЀЀЀЀЀЀ. 

17 ЀЀЀЀЀЀ: XII ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ. Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ (XIVЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ. ЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀЀЀ 20 ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀ I ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ-
ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ 
III ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

21-29 ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 9 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 10 ЀЀ.), 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 11 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ. 

3–28 ЀЀЀЀ: XXXII ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 434 ЀЀЀЀЀЀЀЀ, Ѐ 
Ѐ. Ѐ. 315 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, Ѐ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 
Ѐ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-ЀЀ-ЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ, ЀЀ-
ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ, 
ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-
ЀЀ. 

30 ЀЀЀЀ – 2 ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀ XII ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ. Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀ, Ѐ. ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀ), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

2 – 11 ЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 
ЀXVIII ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ). ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

25 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ. ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ), Ѐ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 519 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 536 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

7 – 9 ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀ-
ЀЀЀЀЀ «ЀЀЀЀЀ-6-1» Ѐ «ЀЀЀЀЀ-6-2» ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-5-1», «ЀЀЀЀЀ-5-3», 
«ЀЀЀЀЀ-5-5», «ЀЀЀЀЀ-6-4» Ѐ «ЀЀЀЀЀ-6-5» — ЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-5-2», «ЀЀЀЀЀ-5-4» Ѐ 
«ЀЀЀЀЀ-6-3» — ЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. 

16 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ», Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
841 ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 567 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀЀ XXXVII ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 2015/16 ЀЀЀЀЀЀЀ ЀЀЀЀ, 46 
ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

 Ѐ.Ѐ.ЀЀЀЀЀЀЀ, 2016. 


